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QUESTION 1

Alteplase is ordered for a 72 YOM who weighs 68kg for Ischemic stroke. The ER physician would like you to dose. As
an ER pharmacist you know the dose is 0.9 mg/kg IV (not to exceed 90 mg); give 10% of the total dose as an IV bolus
over 1 minute, then give the remaining 90% as an IV infusion over 60 minutes. After reconstitution, the concentration of
Altaplace is 1mg/ml. How many ml is needed for the bolus and how many ml is needed for the infusion? Round to the
nearest ml.

A. 6ml IV bolus, followed by 55mL IV over 60 minutes

B. 4ml IV bolus, followed by 57mL IV over 60 minutes

C. 3ml IV bolus, followed by 58mL IV over 60 minutes

D. 8ml IV bolus, followed by 52mL IV over 60 minutes E. 9ml IV bolus, followed by 82mL IV over 60 minutes

Correct Answer: A

QUESTION 2

LN is 84 YOM who is in hospital for a back surgery. His height is 5 feet and 4 inches, weight 85 kg and NKDA.

His past medical history includes hypertension, diabetes mellitus, major depression, hypothyroidism and chronic back
pain. Post-op day 1, LN\\'s medication includes Dexamethasone 8mg iv q6h with taper dosing, Ondansetron 4mg iv q6h
prn for N/V, Levothyroxine 0.075mg po daily, Lisinopril 10mg po daily, Citalopram 20mg po daily, Docusate sodium /
Senna 1 tab po twice a day, Bisacodyl 10mg suppository daily prn for constipation, Famotidine 20mg iv g12hr,
Metoclopramide 10mg iv g6h, Metformin 500mg po bid, D51/2NS with 20K at 125mls/hour and Hydromorphone PCA at
0.2mg/hour of basal rate, demand dose 0.1mg. lockout every 6min, one hour limit 2.2mg/hour. Pertinent morning labs
includes serum creatinine 1.4mg/dl, Mg 1.5mg/dl, K 5.0mmol/L, Na 135mmol/L.

What is LN\\'s creatinine clearance using Cockcroft and Gault equation based on IBW?

A. 43 mis/min

B. 53 miIs/min

C. 63 mis/min

D. 33 mis/min

E. 23 miIs/min

Correct Answer: D

ABW = 85 kg IBW = 50 kg + 2.3 kg (4) = 59.2 kg 85/59.2 = 1.44 AdjBW = 59.2 kg + 0.4(85 kg-59.2 kg) =

69.52 kg CrCl (IBW) = [(140-84) 59.2)/(72 x 1.4) = 32.8 CrCl (AdjBW) = [(140-84) 69.52]/(72 x 1.4) = 38.6

QUESTION 3
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Which of the following would be most appropriate to treat stenotrophomonas maltophilia?
A. Meropenem

B. Vancomycin

C. Ciprofloxacin

D. Sulfamethoxazole/trimethoprim

E. Cefepime

Correct Answer: D

Primary treatment for stenotrophomonas maltophilia is SMX-TMP. Meropenem, ciprofloxacin, and vancomycin have no
coverage.

QUESTION 4

Which of the following should be monitored when a patient is on SGLT2 inhibitor?

A. Hydration status

B. Blood pressure

C. Blood glucose

D. Renal function

E. All of the above

Correct Answer: E

Because SGLT2 inhibitors work by preventing reabsorption of glucose in the kidneys, this increases frequency of

urination. All of the options are monitoring requirements since the hydration status, blood pressure, blood glucose, and
renal function may all be changed from increased urination (from the mechanism of the drug).

QUESTION 5

What is the mEg/ml (Milliequivalents) of 50% Magnesium Sulfate? (Molecular weight of MgSO4 is 120.4g/ mol.)
A. 8.3mEqg/ml

B. 4.11mEqg/ml

C. 62mEqg/ml

D. 50mEg/ml

E. 2.06mEqg/ml

Correct Answer: B
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50gm/100ml x 1lequiv/120.4gm x 1000megqg/lequiv = 4.16meqg/mi

Latest NAPLEX Dumps NAPLEX Exam Questions NAPLEX Braindumps

Latest NAPLEX Dumps | NAPLEX Exam Questions | NAPLEX Braindumps 4/4


https://www.pass4itsure.com/naplex.html
https://www.pass4itsure.com/naplex.html
https://www.pass4itsure.com/naplex.html
http://www.tcpdf.org
https://www.pass4itsure.com/naplex.html
https://www.pass4itsure.com/naplex.html
https://www.pass4itsure.com/naplex.html

